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L -
THE {rtf 9540 ML of nitrogen gas, measured at 488.9 mmHg and
; 22.3“(‘.. rcacts with excess iodine according to the following
i i‘c:c::cucn what mass of nitrogen triliodidec (molar mass=

394 72)is prﬂducnd? (1 atm= 760 mmHg and K= °C + 273)

{  Na(@) + 31a(s) — 2Nix(s)

T 'Selecct &:Hé:
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~ Sﬂlect one: f i ] i
S D a. The spin quantum number (rnﬂ) describes thg
T ~direction of thﬂ spin of the clectron.

b.The mngnctlc quantum number (m,) describes the
: Ehc:po of an orbital
":‘; -c The pﬂnmpﬂlquuntum number (n) describes the
S '"*—“-hﬂpc t::f Qn OI"]:]I'CGI and orientation of an orbital.

S (il hg c:rl'-;jLiE‘"' momentum quentum number (1)

='_:__:._-_=__=__' B dnscr:bc H'tD {:pnc.ntc;tmrz of an arbital.

e et shapoc n:sf wia r:i_r_Lr_iTqi._ :

o Cicar my choice:
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- Marked out of
200

TRETRNa, AR AR AR FA R}
Which of the iullnwin;i smtumonté is correct for multi- .
clectron atoms? | |

= | | |

i
_'1

Sclect onc:

) a.dhe spin qu-::niurl‘ﬂ number (m,) describes the
direction of thc spin of the clectron.

O b The magnetic quantum number (m,) describes the
shapc of an orizital

I :
c. The principal guantum numiber (n) describes the

shapc of an orbital and ongntation of an orbital

o, The angular momantum guantum number (1)
cdeoscribas the oncid atuy o an orboital.
® o The principal qucintsm nunmbor (n) doescriboes the

o bvevewey o cuesy eove st el | |
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) " -Jf' -Jf | ’f l! I|’ } 'I||'| | M} .'[; ;"Ij .',' -||'|: flll'!." I .'E’ ':'l l
e. K | .’I ] .'f:"'ll Illlfli |-'||u."jl'|:_. | "/' ='I-,'!|, .' |
Clear my. choice  | ’ { WH’ | {If | r’ |
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[ PRANY ' PETTTT 2,
| riim*lﬁ Which one of the fnllmming is correct

Answer saved
|:Iulnrtaﬂd out of Select one: IL
200 ® a.The nci e of MNO, is manganese(ll) oxide.
;':ugmvﬂ O Thle nc:rnla of CrOj is chromium trioxido.
I | O e.Tho nc:rrw:wl of CusN; is copper(ll) nitrite.
) d. The namc c:f Fo.O4 is iron(ll) oxide.
. The name of Cr40+ is chromium(lll) oxide.
Cloar my chojce
Previous paac habstiod NP LY.
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a. El'f gulnlng two clectrons

2D Ery Iosing two clectrons
S ::.Hy laslng onc electron
R T S S Wy | By luamg threc clectrons

SEEEE SRR R o, By g::urnr‘g onc cloctron

L odi my&h_g_
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| qUestinn15 H]
| Answer saved

Marked out of
200

¥ Remove
flag

A student has a sample of .88 M HCI. What volume of water
does ha require to prepare 100 mL of 0.450 M HCI?

Sclect once:
® . 239mL

' b.4.78 mL
c. 52] rlTHL

|

) d 76.]1 ml

. d78 . mL

Clcar n‘iy choicec
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- Which one of thl:r ful!umng is mn'ect:
SRR
Select one: \ B |

® a. The ndme of MnO, is manganese(ll) oxide.

@, The nﬂrAG nf Crﬂg is chromium trioxide.

s o O {:‘Thc.l na nnf CusN; is copper(ll) nitrite.

O dl The r"ICIIT!G! nf Fe,Q4is iron(il) oxide.
|

~ e.The name of Cr,Oy is chromium(Il) oxide.

Clocar my choice |

Previous paac Laul
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i N
I |An atom of whlch of the following elements is not i -
chc:mc:gnalic in the ground state.
.’| | | Lﬁ HITRE
| | ‘ 1 ] 1
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Home My courses GENERAL CHEMISTRY | / caechl asan

| | Question B :
| Hotyet |

" answired

mMarkoel out of
200

v Hog
quieEtion

Provious page

General

Tha total number of atoms in 0.0 mol of NaO4is:

Saloct one:
O 0.6.0%10%2

' b

.
L C.

15 1042

| {L : -

) )

=

10 x 1047

1ile Jf~Final exam
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What is the length of 1.85 decimceter in units of micrometer
with the correct number of significant figures?

Sclect one: || || _

) 6.2 IL‘?,*I ?

) b 1.85 ¥ 'I.:_rj:.“l,-' | ;’ |

& 73 1,85/ ﬁr:i '{ 'ﬁ |/
F e |

o 2x10/9I W

o 185 x 10k
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Which of the following stnmmnntu Is correct for multi-

clectron atoms? [1]]] | |
','a,'a- 10
Sclect one: ‘ |

0 a.The spin qur;mt'-..lr!*ﬂ number (m.) dascribes the
direction of the spin of the clectron.

b. The magnetic quantum number (m) describes the

shapc.of an orbital

c. The principal quantum number (n) describes the

shape of an orbital andcl orniegntation of an orbital.

d. The angular mMamantuny quantum number (1)

docscnboas the onontatuyy Oof am orboital, )
® o The poancipal aqudntbag®™ nurnmibor (n) describes the
ahverrwer af oany o iteTd
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Sclcct c}nc' o |
@ Q. By anmg two clectrons

b By ;s::rsing two clectrons

K G_E',: It:.-!ﬂng onc clectron

- —

LR d. E':.v‘ I::::- ng thrcc clectrons

7\o. By-gcurjuﬂg onc electron

Clear my choice

iHow can Mg acquire a noble_'gns eclectron configuration?
S LA pess '
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Question 13
Answoer saved

mMarked out of
200

" Remove
nog

How many electrons are there in the vale

BeCls?

Scolect ono:

a s
b .10
c B

cl 4

Clear my choico

-

nce shell of Be in
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— < b.shas0,0ne Oatom has +1

O ©.S hos +2,0n6 O atom has -2

— > d.Shas +2 two O atoms has -1 and one O atom has 0
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Question B

Notyet
answered

| Marked out of

200

" Flog
question

When 12.0 g of Cas(PO4), and 12.0 g of H2504 wero allowed to react according to tho
above equation. 6.00 g of CaS0s were produced. Calculate the % yicld of CaS0.. Molar
masses (gfmol): Cas(PO.): = 310.2; H250. = 981; CaS0.4+=1361 and H;P0s =980

Scloct onc!

™ 0.886
. 633
c. 76.0
cl, 50.6

o 380

Ca;(PO4),(s) + 3H,50.(aq) —3Ca504(s) + 2H;P04(aq)
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Question 9
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What is tho length of 1.85 decimaetorin units of micromaotor
with the correct number of significant figuros?

Select ono:
O a.2x\0P
) H.185 x10Y
"_.s\:é* 185 x\0™®
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Consider the unbalanced chemical equation: |

H2S04 (aq) + Fe(OH)s(s) — Fex(S04)a(s) + H,0()

A volume of 38.0 mlL of agqueous HaSO4 solution was required
to react completely with 0.685 g Fe(OH)s (molar mass =
106.8 g/mol) to procduce Fez(S04)3. Calculate the molar
concentration of the HaSO.x solution.

Sclect onoe: i

ca. 0214 M -k _ [.}
. 0301 M
c. 0344 M
d. 0253 M

. 0175 M
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tbnz Which of the following ions has the smallest radius:

. NOot yet = 1
answered
-' Sclect onao:
Marked out of i -
200 () a.P
. ¥ Remove -] lj_:'Nfl'
fla e,
- g f__] c MC}
D 02' ,
9 Q. ij

mg_mur_c hoicc

Provious nacie
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Sc:lt:c:t one' i
‘:L a. —23.,: x.:

—-:16 5. k:J
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S A23f u;::.:z.';. :'.r'r;.:-':; :
Ci

ABS ki

i

II Jl[ I |

When 13.8 mL of 0.870 Mlcad(ll) nitrate reacts with 90.0 mil. lr:)'l
- 0.777 M sodium chloride, 0.279 kJ of heat is released at
constant pressurce. What is A~ for this reaction?

| Pb(Nc:g)z(aq) +2NacCl(aq) — PbCly(s) + 2NaNO3(aq) .
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Sclect onc:

. Aland Ga.

b. K and Mg.
c. e and Ph,
d. O and So.

c. Mg and Ca.

Clear my choice

Two elements that have the same ground-state valence
shell configuration of ns?np? are:
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Select nne:- N IJ " |

c I i
s ) 5pﬂ “ |f . 1
C

J [ J fiiii " ;.='é-|

a. sp |=||. I l

b spEd?;fr . ” ||

o

Clcar my Gl]_QIEE.‘:l ! |

i (8
oo
\” n"ﬂ i ”J
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nce shell of Be in

How many electrons are there in tho valce
Answer saved Fd 2 . '
BeCl,? :
mMarked out of
200
" Remove
flog Sclect onea: Y » T
s L A
2 .10
c. B
cd 4
. D

Cloar myy choice
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§f~'-—sa|ec: one: PR MRS e
A _' O l:'J. The spin quunturn numbcr (rns) dcscr:bcs the u
Ty : ~direction of the spin of the electron. : SRR

b. The magnetic quantum number (m,) describes the

shﬂpc c:f c::n Erbitﬂl- -
—_: = . 3 c.Tho prrnmpﬂ! quuntum number (n) describes the

S e e -""thc:pc of, c:n Drbltnl and orientation of an orbital.

geonee e a.Tho c:ngﬂi‘-"ll TT‘IE]I’T"IEI"II:LIII"I'I quantum number (1)
T e i d-‘*s:r:ncu tf;m -OFio Atation of an orbital.

L s E— . o = -

S N @ o, The prrn::::pﬂlfqugnnxm number (n) describes the
:_——-—— T 3:"""1'[].{:}!: of ar Dr!:”t":”- 17

D

— . Cicar my choice
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When 12.0 g of Caz(PO4)2 and 12.0 g of H2SO4 were allowed to
react according to the above aquation, 6.00g of CaS50g4
were produced. Calculate the % yield of CasO.. Molar

massces (gfmcrl): GUE(PC},:;)? = 310.2: HxSO4 = 98.1; CaS0.=136.
and HsPO, =980

CamScanner = LWgd 4> guuadll



The bond angels in BFz are expected to be:

Sclect ::nnT
O a9 anaou

@ l‘J.QD I’“Idﬂ?ﬁ“

2maove

P Jae _

2 d. iBE{

fi! ']J""_IC].I'} |

Clnrnr |‘J*i|', (Jl.l"lc‘}r't?_hl
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In which of the fnllamng bnnds wnuld P have a partial
fj ‘negative charge?

'Sﬂicct Dne :; :

= 5 Clocar my choice
R I
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| 'é:t electranléz cnnf:gurntlcn of an element that has

| iy

l:‘i [ir] "filrl-—'i“ ==:1;;

ik ]H,t T Es5Ee [
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thstiunﬂﬂ
Answer saved |

Marked out of
200

¥ Remove
flag

The molecular geometry of PFs is:

Sclect onco:

® a.Square pyramidal

) b. Seesaw (distorted tetra hcdru!)
' c. Tngonal pyramidal

(o d. Trigonal bipyramidal

c. T-shapc

Clear my choice
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